ﬂQthQ led Installation Guide

v4.0
Page 1-7
LED Linear High Bay
A\ WARNING/ADVERTENCIA/AVERTISSEMENT
To reduce the risk of electrical shock, fire, or _Para re_ducir e! riesgo de descarga eléc_trica, Lisez et suiyez les instruction_s d’instqllation
injury to persons; read and follow all incendio o IeswonesAa personas, Iga y siga etles ayernsselmentsl ayant |’|rjsta||lat|on.
warnings and installation instructions before f[odas Ia_s advertencias e_lnstrucmones de Toute_l’_lnstallatl_qn doit étre executee_' par un
X . . . instalacion antes de realizarla. Toda électricien qualifié, pour réduire les risques
installing. All Installa.tl'on ShOUI(_j _be instalacion debe ser efectuada por un de choc électrique, de feu ou de blessures
performed by a qualified electrician. electricista cualificado. corporelles.
Risk of Electric Shock Riesgo de descarga eléctrica Risque de choc électrique
Ensure power is off before installation or AsegL_]rese d_e desgonecta_r la corriente antes Assurez-yous que le cou_rant soit coupé avant
inspection. All wirings are performed in de la instalacién 0 inspeccién. Todos los I'mstallatloh ou I'inspection et que tout le
accordance with Electrical Code and local cableados se _reallzan de _acuerdo con el cablage soit e_zﬁ_‘ectué en conformité avec le
electrical code. Codigo Eléctrico y el codigo eléctrico local. code d’élgctnmté et le code local
d'électricité.
Risk of Fire Riesgo de incendio Risque de feu
Fixtures are rated for use in 1002770120347, o0 eaBOV, crcuitos utlsation da 100 5 277 120 & 347277 & 480V
P o con - 120- 277- , circuitos utilisation de a , a ) a )

277-480V, 506(_)HZ' protected circuit and 90°C protegidos de 50-60 Hz y cables adecuados pour un circuit protégé de 50 a 60 Hz et pour
rated supply wire. para 90 °C. uhe source d alimentation de 90 °C.
FOR YOUR SAFETY PARA SU SEGURIDAD POUR VOTRE SECURITE
While performing installations described, Mientras realice las instalaciones descritas, Vous devriez porter des gants et des verres
gloves, safety glasses or goggles should be se recomlenda el uso de guantes y gafas de p_rotectlon lors des installations
worn. de seguridad. detaillees.
Install this kit only in the luminaire that have Instale este kit solo en la luminaria que tiene las Installez cet ensemble seulement dans un
the construction features and dimensions caracteristicas de constrluccién y_dir_nensiones que luminaire -qui posséd_e les c_aractéristiques de
shown in the photographs and/or drawings. aparecen en Igs fotog_raﬂas y/o d|bu10_s. No realice ni cgnstructl\on et les dimensions Felles que _
Do not make or alter any open holes in an altere los agujeros ab|_ertos en un recmtq de_ démontrées sur les photograph_|e_s et/ou dessins.

.. . cableado ni en cualquier componente eléctrico Ne pas percer de trous ou modifier les trous
enc_losur_e _Of erln_g or electrical components durante la instalacion del kit. existants dans un boitier ou des components
during kit installation. électriques durant I'installation de I'ensemble.
To prevent wiring damage or abrasion, do not Para evitar danos en el ca_bleado o abrasio_nes, no _ _

.. ! exponga el cableado a hojas de metal laminado u Pour prévenir les dommages ou |'abrasion, ne pas
expose wiring to edges of sheet metal or otros objetos cortopunzantes. mettre en contact le cablage avec des bords de
other sharp objects. plaques de metal ou tout autre objet coupant.

.. No altere, reubique o elimine cables, portaldmparas,
Do not alter, relocate, or remove wiring, tomacorriente o cualquier otro componente Ne pas modifier, délocaliser ou enlever du cablage,
lampholders, power supply, eléctrico. des supports de lampes, une source
or any other electrical component. d'alimentation ou tout autre composant électrique.
APTO PARA LUGARES HUMEDOS.
SUITABLE FOR DAMP LOCATIONS. CONVIENT AUX ENDROITS HUMIDES.

INSIDE THE BOX

LED Linear High Bay

Plusrite USA
2000 S. Grove Ave, Bldg B
Ontario CA 91761

T:909-930-6868
T:888-758-7443

or F:909-930-9988
) (2) Chain

2FT ' 4FT cadena www. naturaLED.com
| chaine

Made in China




Installation Guide
v4.0
Page 2-7
LED Linear High Bay

INSTALLATION/INSTALACION

Disconnect the power before installation. Exploded view of completed assembly with component call out. 1-1, 1-2, 1-3, etc.

Desconecte la alimentacién antes de la instalacidn. Vista de despiece del conjunto completo con indicaciéon de componentes. 1-1, 1-2, 1-3, etc.
Débranchez I'alimentation avant l'installation. Vue en éclaté de I'assemblage complet, avec le nom des composants. 1-1, 1-2, 1-3, etc.

Wire Diagram / Diagrama de alambre / Schéma de céblage

(DIM+)
(DIM-)
(L)Fire Line /Linea de fuego /fil conducteur

[\ Purple/Morado /NViolet
[\ Pink /Rosa /Rose
[\ Black/Negro /Noir

(G)Ground Line /Linea de tierra /fil de terre [\ Yellow&Green/Amarillo y verde /Jaune et vert LED Driver
. B N Controlador de LED
(N)Neutral Line /Linea neutra /) fil neutre [\ White/Blanco /Blanc Transformateur LED

(12V+)
(12v-)

[\ White/Blanco /Blanc
[\ Gray/Gris/Gris

o Chain Mount / Montaje de la cadena / Fixation & une chaine :

1-1 1-2

Unlock the hoop at the ends of the chain.

Desbloguee el aro en los extremos de la cadena.
Ouvrez le crochet aux extrémités de la chaine.

Open wiring back plate to install power cable or conduit.

Abra la placa posterior del cableado para instalar el cable de alimentacion o el conducto.
Ouvrez le boitier de cablage situé a I'arriére pour installer le cable d’alimentation ou conduit

1-3 1-4

Lock the chain and hole on the housing.
(Please keep the fixture horizontal)

(Mantenga el dispositivo en posicion horizontal)
Fermez la chaine et le trou sur le boitier.
(veuillez garder le luminaire horizontal)

Connect the cable. (See Wire Diagram)

Conecte el cable (véase el diagrama de cableado).
Branchez le cable (voir schéma de cablage).

Pendant and Ceiling Mount / Montaje colgante Montaje en el techo / Fixation suspendue Fixation au plafond

(Optional Accessory / accesorio opcional / accessoire en option)

@ Q)

(1) Bracket (2) Bolt (2) Nut (2) Washer
Soporte Perno Tuerca Arandela
Support boulons écrous rondelles




LED Linear High Bay

Installation Guide
v4.0
Page 3-7

INSTALLATION/INSTALACION

9 Pendant Mount /Montaje colgante /Fixation suspendue:

2-1

NPT 3/4” Pole

M5 Screw Bracket

Use (2)M5 screw to lock the bracket and NPT pole.

(Screw not included)

Utilice (2) tornillos M5 para acoplar el soporte y el poste NPT.(tornillos no incluidos)
Utilisez (2) vis M5 pour fixer le support et le poteau NPT.(vis non incluse)

2-2

Bolt

Nut Washer

Use bolt, nut, washer to lock the bracket and fixture.
(Please pay attention to the sequence.)

Use pernos, tuercas y arandelas para apretar el soporte y el accesorio

(preste atencion a la secuencia).

Utilisez un boulon, un écrou et une rondelle pour fixer le support et le luminaire
(veuillez faire attention a I'ordre).

Put the cable through the NPT pole. Connect the cable. (See Wire Diagram)

Pase el cable a través del poste NPT. Conecte el cable. (véase el diagrama de cableado)
Passez le cable a travers le poteau NPT. Branchez le cble. (voir schéma de cablage)

@ Ceiling Mount /Montaje en el techo /Fixation au plafond :

3-1

Screw

Match the distance of screw hole on the ceiling. Drill the holes in a
suitable size. Use screws to install the bracket on the ceiling.
(Screw not included)

Ajuste la distancia correcta de los orificios de los tornillos en el techo. Taladre agujeros de un
tamafrio adecuado. Utilice tornillos para instalar el soporte en el techo.

(tornillos no incluidos)

Marquez la distance entre les trous de vis sur le plafond. Forez les trous au diamétre
approprié. Utilisez des vis pour installer le support au plafond.

(vis non incluse)

3-2

Gasket

Washer

Use screw, washer and gasket to lock the bracket and fixture.
(Please pay attention to the sequence)

Utilice tornillos, arandelas y juntas para apretar el soporte. y el accesorio.
(preste atencion a la secuencia)

Utilisez la vis, la rondelle et le joint pour fixer le support et le luminaire.
(veuillez faire attention a I'ordre)

3-3

Connect the cable. (See Wire Diagram)

Conecta el cable. (Ver diagrama de cableado)
Branchez le céble. (Voir schéma de cablage)




LED Linear High Bay

Installation Guide
v4.0
Page 4-7

INSTALLATION/INSTALACION

@ Pole Mount /Montaje del poste /Fixation au poteau:
(Optional Accessory /accesorio opcional /accessoire en option)

A 1

@

1”,;},"' Plate 'gf:f," Plate Pendant Base  Pendant Box (1) Dental Pad:1/2” (1) Dental Pad:3/4”  (2)M4*10  (2) M4 (6) M4*10
Almohadilla dental Almohadilla dental Screw Nut Screw

Placa de metalde  Placa de metal de Base colgante Caja colgante Coussin dentaire Coussin dentaire tornillos para tuerca tornillos

Plaque métallique Plaque métallique Base de suspension boitier de suspension vis pour écrou vis

4-1

Use (4)M4*10 screws to

Knock off the hole on the top cover of the
LED driver, put on the rubber bushing.

Retire el agujero en la cubierta superior del controlador de LED y coloque el casquillo de goma.
Dégagez le trou sur le couvercle du transformateur, passez la bague en caoutchouc.

mount the pendant base
on the top cover of

the fixture. And use
(2)M4*10 screws to mount
the pendant base.

Do not tighten.

Utilice (4) tornillos M4*10 para montar la base colgante en la cubierta superior del dispositivo
Utilice (2) tornillos M4*10 para montar la base colganteNo apriete en exceso.

Utilisez (4) vis M4*10 pour fixer la base de suspension au couvesle du luminaire.

Utilisez (2) vis M4*10 pour fixer la base de suspensionNe serrez pas.

4-3 |

4-4

Use (2) M4*10 screws and nuts to install
the pendant box on the metal plate.

Utilice (2) tornillos y tuercas M4*10 para instalar la caja colgante en la placa de metal.
Utilisez (2) vis M4*10 et écrous associés pour installer le boitier de suspension sur la
plaque métallique.

Screw one nut on the pole.

(nut not included)

Atornille una tuerca en el poste. (tuerca no incluida)
Vissez un écrou au poteau. (écrou non inclus)

0

4-5

Use one nut and dental pad to mount the pole on the
pendant base. (nut not included)

Use una tuerca almohadilla dental para montar el poste en la base colgante. (tuerca no incluida)
Utilisez un écrou coussin dentaire pour fixer le poteau sur la base de suspension. (écrou non inclus)

Hang the fixture on the pendant base.
Connect the cable.
(See Wire Diagram)

Cuelgue el accesorio de la base colgante. Conecte el cable.

(véase el diagrama de cableado)

Accrochez le luminaire sur la base de la suspension. Branchez le cable.
(voir schéma de cablage)

Tighten the "step 4-1" (2)M4*8 screws.
Apriete los tornillos (2) M4*8 del "paso 4-1".
Resserrez les (2) vis M4*8 de I'étape 4.1.




Installation Guide

v4.0
Page 5-7
Sensor Wire Diagram /Diagrama de cableado del sensor /Schéma de cablage du capteur
[¢
Sensor head
Cabezal LED sensor
Téte du capteur
o 12V+ 12V-DIM-  DIM+
z
s 5 &
K2l I -
g 3 z &
= © of 2
Black T . 12V+ 12V~ DIM- DIM+ ©
L g 2 _% Black L Red L,
White 2 § c White LED Driver LED light source
N 5 238 N Controlador de LED LED luz fuente
Yellow/Green| 5 3 Transformateur LED ~ LED+ LED lumiére source
| 2 £ LED- & -
c E £ Black
o o o o
O +

5-1

Open the top cover of the LED driver.

Abra la cubierta superior del controlador de LED
Ouvrez le couvercle du transformateur LED.

Remove the top cover of the LED driver.

Retire la cubiérta superior del controlador de LED.
Retirez le couvercle du transformateur LED.

5-3 5-4 S
SO
=
\~
] \ A
Punch through one of knock-out
holes which matches sensor size.
i ) ) L . Mount sensor to knockout hole.
Perfore a través de uno de los agujeros ciegos que coincida con el tamafio del sensor. _ ,
Percez un des trous correspondant  la taille du capteur. Monte el sensor en el agujero ciego.
Fixez le capteur au trou.
5-5 5-6

locking screw

Wire sensor with power cable. (please see wire diagram)

Conecte el cable de alimentacion al sensor (consulte el diagrama de cableado).
Reliez le capteur au céble d’alimentation (voir schéma de cablage).

Close the top cover of the LED driver and fasten the locking screw.

Cierre la cubierta superior del controlador de LED y apriete el tornillo de bloqueo.
Fermez le couvercle du transformateur LED et resserrez la vis de fixation.




Installation Guide
v4.0
Page 6-7

Emergency Driver Wire Diagram /Diagrama de cableado del controlador de emergencia /Schéma de cablage du transformateur d’urgence

[s)
Black |\ | Black |
LED Driver LED-| Black LED light source
Switch Controlador de LED LED luz fuente
Interruptor . Transf teur LED LED lumiére source
Commutateur White ACN ransiormateur LED+ Red Red -
L o/c
(o]
O
L
DRIVER+
— N
Black S 5. Black DRIVER-
Exg Emergency driver LED-
) o5 ) Conductor de emergencia
White cSs White transformateur d'urgence ~ LED+ BATTERY
N 3 33 BATTERY+ Red|  BATERIA
Yellow/Green | £ E & Yellow/Green BATTERY- Black| BATTERIE
G il oo 2
or N7
co Test Switch
o Interruptor de prueba
Commutateur de test

6-1

Open the top cover of the LED driver. Install emergency driver on top cover of LED driver.

Remove the top cover of the power supply. Instale el controlador de emergencia en la cubierta superior del controlador
Abra la cubierta superior del controlador de LED. de LED.
Quite la tapa superior de la fuente de alimentacién. Installez le transformateur d’urgence sur le couvercle du transformateur LED.

Ouvrez le couvercle du transformateur LED.
Retirez le couvercle de I'alimentation.

6-3 6-4
Wire emergency power supply with power cable.
(please see wire diagram)
Install the emergency driver test probe on the cover plate. Conecte el cable de alimentacion a la fuente de alimentacion
Instale la sonda de prueba del controlador de emergencia en la placa de cubierta. (consulte el diagrama de cableado). i )
Installez la sonde de test du transformateur d’urgence sur la plaque de couvercle. Branchez I'alimentation d’urgence au cable d’alimentation
(voir schéma de cablage).
6-5

Close the top cover.

Cierre la cubierta superior.
Refermez le couvercle.




Installation Guide
v4.0
Page 7-7

Emergency Driver Wire Diagram /Diagrama de cableado del controlador de emergencia /Schéma de cablage du transformateur d’urgence

7-1

Bl

T T A i i e I T T A AT

oo -g|° P . s
> o.. ... ©

. AR

I

Open the top cover of the LED driver.
Remove the top cover of the power supply.

Abra la cubierta superior del controlador de LED.
Quite la tapa superior de la fuente de alimentacion.
Ouvrez le couvercle du transformateur LED.
Retirez le couvercle de I'alimentation.

7-2

Install emergency driver on top cover of LED driver.

Instale el controlador de emergencia en la cubierta superior del controlador
de LED.
Installez le transformateur d’urgence sur le couvercle du transformateur LED.

7-3
(4) M4 lock nuts "
~ i
§§\i
- - K
: . o
b @ P <>

(4) M4*8 screws ‘&%"”J

Install the EM driver with (4) M4 lock nuts and (4) M4*8 screws.

Instale el accionamiento electromagnético con (4) tuercas de bloqueo

M4 y (4) tornillos M4 * 8.

Installer le conducteur électromagnétique avec (4) écrous de verrouillage M4
et (4) vis M4 * 8.

7-4

. A

ool

o =

Install the emergency driver test probe on the cover plate.

Instale la sonda de prueba del controlador de emergencia en la placa de cubierta.
Installez la sonde de test du transformateur d’urgence sur la plaque de couvercle.

7-5

. E E; . T o

i

Wire emergency power supply with power cable.
(please see wire diagram)

Conecte el cable de alimentacion a la fuente de alimentacion
(consulte el diagrama de cableado).

Branchez I'alimentation d’urgence au céble d’alimentation
(voir schéma de céblage).

7-6

xR
- Ors i

il
|

T O T O I A T I A A T T T T

R

L

Close the top cover.

Cierre la cubierta superior.
Refermez le couvercle.




